
 

 

 

Prelims Hacks 2022: Tricks to attempt most 

questions in Prelims 
 

Avoid the extremes 

 

 
 

PYQ 2020: 

 

In India, Legal Services Authorities provide free legal services to which of the following type of 

citizens?  

1. Person with an annual income of less than Rs 1,00,000  

2. Transgender with an annual income of less than Rs 2,00,000  

3. Member of Other Backward Classes (OBC) with an annual income of less than ₹ 3,00,000  

4. All Senior Citizens Select the correct answer using the code given below:  

(a) 1 and 2 only  

(b) 3 and 4 only  

(c) 2 and 3 only  

(d) 1 and 4 only 

 

 

A Parliamentary System of Government is one in which  

(a) all political parties in the Parliament are represented in the Government  

(b) the Government is responsible to the Parliament and can be removed by it  

(c) the Government is elected by the people and can be removed by them  

(d) the Government is chosen by the Parliament but cannot be removed by it before completion of a 

fixed term 

 

With reference to "Blockchain Technology" consider the following statements:  
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(1) It is a public ledger that everyone can inspect, but which no single user controls.  

(2) The structure and design of blockchain is such that all the data in it are about cryptocurrency 

only.  

(3) Applications that depend on basic features of blockchain can be developed without anybody's 

permission.  

Which of the statements given above is/are correct?  

(a) 1 only  

(b) 1 and 2 only  

(c) 2 only  

(d) 1 and 3 only 

 

 

In India, which of the following can be considered as public investment in agriculture?  

1. Fixing Minimum Support Price for agricultural produce of all crops  

2. Computerization of Primary Agricultural Credit Societies  

3. Social Capital development  

4. Free electricity supply to farmers  

5. Waiver of agricultural loans by the banking system  

6. Setting up of cold storage facilities by the governments  

Select the correct answer using the code given below:  

(a) 1, 2 and 5 only  

(b) 1, 3, 4 and 5 only  

(c) 2, 3 and 6 only  

(d) 1, 2 3, 4, 5 and 6 

 

 

Consider the following statements:  

1. In the case of all cereals, pulses and oil-seeds, the procurement at Minimum Support Price 

(MSP) is unlimited in any State/UT of India.  

2. In the case of cereals and pulses, the MSP is fixed in any State/UT at a level to which the market 

price will never rise.  

Which of the statements given above is/are correct?  

a. 1 only  

b. 2 only  

c. Both 1 and 2  

d. Neither 1 nor 2 

 

 

What are the advantages of fertigation in agriculture?  

1. Controlling the alkalinity of irrigation water is possible.  

2. Efficient application of Rock Phosphate and all other phosphatic fertilizers is possible.  

3. Increased availability of nutrients to plants is possible.  

4. Reduction in the leaching of chemical nutrients is possible.  

Select the correct answer using the code given below:  

(a) 1, 2 and 3 only  

(b) 1, 2 and 4 only  
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(c) 1, 3 and 4 only  

(d) 2, 3 and 4 only 

 

PYQ 2019 

 

Consider the following statements:  

1. Under Ramsar Convention, it is mandatory on the part of the Government of India to protect and 

conserve all the wetlands in the territory of India.  

2. The Wetlands (Conservation and Management) Rules, 2010 were framed by the Government of 

India based on the recommendations of Ramsar Convention.  

3. The Wetlands (Conservation and Management) Rules, 2010 also encompass the drainage area or 

catchment regions of the wetlands as determined by the authority.  

Which of the statements given above is/are correct?  

(a) 1 and 2 only  

(b) 2 and 3 only  

(c) 3 only  

(d) 1, 2 and 3  

 

 

Consider the following statements:  

1. Most of India's external debt is owed by governmental entities.  

2. All of India's external debt is nominated in US dollars.  

Which of the statements given above is/ are correct?  

(a) 1 only  

(b) 2 only  

(c) Both 1 and 2  

(d) Neither 1 nor 2  

 

 

As per the Solid Waste Management Rules, 2016 in India, which one of the following statements is 

correct?  

(a) Waste generator has to segregate waste into five categories.  

(b) The Rules are applicable to notified urban local bodies, notified towns and all industrial 

townships only.  

(c) The Rules provide for exact and elaborate criteria for the identification of sites for landfills and 

waste processing facilities.  

(d) It is mandatory on the part of waste generator that the waste generated in one district cannot be 

moved to another district.  

 

 

The economic cost of food grains to the Food Corporation of India is Minimum Support Price and bonus 

(if any) paid to the farmers plus  

(a) transportation cost only  

(b) interest cost only  

(c) procurement incidentals and distribution cost  

(d) procurement incidentals and charges for godowns  
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How many questions to attempt 

 

Confused between 2 options? 

What if you are confused between 2 options in 30 questions? 

15 correct – 30 marks 

15 incorrect – (-10) marks          20 marks!                                        

 

 

Confused between 2 options? 

What if you are confused between 2 options in 30 questions? 

10 correct – 20 marks 

20 incorrect – (-13.2) marks          6.8 marks!                                        

 

 

 

 

ALL THE BEST!!! 
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